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PHILOSOPHY (General)
Paper Code : III-A & B 

(Ethics : Theory and Application) 

[New Syllabus]
Full Marks : 100 Time : Three Hours

Important Instructions 
for Multiple Choice Question (MCQ)

• Write Subject Name and Code, Registration number, Session and Roll 
number in the space provided on the Answer Script
Example : Such as for Paper III-A (MCQ) and ni-B Pescriptive). 

Subject Code : III A & B

Vw
Subject Name :

• Candidates are required to attempt all questions (MCQ). Below each 
question, four alternatives are given [i.e. (A), (B), (C)> (D)]. Only one 
of these alternatives is 'CORRECT answer. The candidate has to write 
the Correct Alternative [i.e. (A)/(B)/(C)/(D)] against each Question No. 
in the Answer Script.
Example — If alternative A of 1 is correct, then write :

1. — A
• There is no negative marking for wrong answer.
• No student will be allowed to leave the examination hall before 

completion of the examination.
• Using abusive language or employing any other unfair means, he/ 

she will render himself/herself liable to disqualify.
• Use of ,cnyy mobile phone, calculator or log table etc. in the- 

. ^xarf?Sn4^@n hall is prohibited/except specially instructed in the
'•question paper. '
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Paper Code : III-A
^ (MCQ) ^Rpft

• fetf^s ^RTT 1w?ra (Subject) ^°\ (3TO, Cgfecg-'F? W,
CW <g<K C3M TO %*l£5 ^ I

— (TOT Paper III-A (MCQ) *£R\ III-B (Descriptive) I 

Subject Code : III A & B

Full Marks : 30 Time : Thirty Minutes
Choose the correct answer. 

Each question carries 1 mark.

1. The ethical theory of Mill is known as —
(A) Rationalism

(B) Utilitarianism

(C) Rigorism

(D) None of the above

^ i fcrc *k><iW f% ?

(A)

(B)

(C) f

(D) ^(,33 C^Rf5 *T?T

2. The moral Law, according to Kant, is--------------

(A) Categorical Imperative 

■(B) Criticism

(C) Both (A) and (B)

(D) None of the above

^ I *Rva Wit —

(A) mx*\
(B) j%R<rFT

(C) (A) (B)

(b)%*tm TO

Subject Name : *____________________ _______ _

• (MCQ) ^rn fes I ^
^53, (A), (B), (C) ^ (D) ^ (ETOt ^1

^ vB'SfcW (A) / (B) / (C) / P)

'Sk1^ct — ^ 1 •V^. M A W WI :
1. - A

• (TTC^lfi^ (71^ I

• (7FH *i<TWc<K^
(TfGTTt «T11

• C^R *Ff ^1 ^sftTO C^TRt ^ W71
Rem Rft ^1<K<11

• RorPR. f5fc*R RcH*t ^FR C^TRI^T (7FR,
fifei I

I
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3. The object of moral judgement is —

(A) Voluntary action

(B) Non-Voluntary action

(C) Reflex action

(D) None of the above

5. How many moral sanctions are recognised by Bentham ?

(A) 2

(B) 3

(C) 4

(D) 5

's i Rbic<3<i fen —

(A) felt
(B) felt

(C) erffes felt

(D) nn

(t i cn^tn fesR ?

(A) 2

(B) 3

(C) 4

(D) 5

6. Who makes a distinction between pure reason and practical reason ?

(A) Plato

(B) Aristotle

(C) Kant

(D) None of the above

I fe^ <j% 'Q wj <k<m ?

(A) CSttfrt

(B)

(C) ^

(D) ^

4. Which one of the following theories of punishment does not support death 
sentence ?

(A) Retributive theory

(B) Preventive theory

(C) Reformative theory

(D) All the above

81 *ft% ^rt ?

(A) 2jfe*ttnRin> n^nR

(B) n^nR
(C) R\C*tt*RRRS nvs<]R

(D) •»
O ■

?vn 2H * ax — t °
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7. Who says that ‘it is better to be a human being dissatisfied than a pig 

satisfied’ ?
9. Are impulsive actions, according to Kant, moral ?

(A) Yes

(B) No

(C) Doubtful

(D) None of the above

(A) MU

(B) Bentham

(C) Aristotle

(D) None of the above

c?> i ?
H I C<F Ct>Gl "spjsft ^5 Wl ?

(A) $t

(B)

(C)

(D)

(A)

(B)

(C)

(D) »Tl
10. Who is known as gross egoistic hedonist?

(A) Aristotle

(B) Aristippus

(C) Socrates

(D) Plato

^ o i *tfsfF5 ?

(A)

8. Is Ethics normative science ?

(A) Yes

(B) No

(C) Doubtful

(D) None of the above

b-1 ?

(A)

CB) ^

(C)

(D) *BI

(B)

(C) ^FfB^

(D) CW35t«* • oo
4„ 7i/rw Over
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13. Who among the following philosophers is an environmentalist ?

(A) Hegel

(B) Lillie

(C) Arne Naess

(D) All of above

11. How many criteria are given by Bentham to calculate pleasure ?

(A) 6

(B) 7

■(C) 8 

(D) 9

(A) 6

(B) 7 .

(G) 8 

(D) 9

i(A)

(B)

(C)

(D)

14. Mill’s theoiy of utilitarianism is called —12. Are habitual actions objects of moral judgement ?

(A) Yes

(B) No

(C) Doubtful

(D) None of the above

(A) Gross

(B) Refined

(C) Both (A) and (B)

(D) None

v,^i '©i\»ji>t^\o 1% fibiww firo ?

(A) tfl

(B) *n

(C)

(D) (7^#

(A) 'spftw

(B) *1^5

(C) (A) 'S (B) 'felt

(D) ^ra

o
Turn Over
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15. Who holds the view that ‘Goodwill is good in itself ?

(A) Socrates

(B) Bentham

(C) Mill

(D) Kant

^(t l ^ <7F ?

17. Niskama Karma means —

(A) Selfless action

(B) Wrong action

(C) Selfish action

(D) Great action

. ^ I <&% '<\<r\'o6 (RRTR---

(A) ■ W

(B)

(C) ^

(D)

(A)

(B) .

(C)

(D) ^

fI '

18. ‘Ethics is the normative science of the conduct of human being living in 
societies’ — Who says this ?

(A) Kant

(B) MH1

(C) -William Lillie

(D) None of the above

vKR* ?

16. ‘There is no qualitative difference among pleasure’ — who says this ?

(A) Bentham

(B) Min

(C) Kant

(D) None of the above

(A) C^Tsi

(B) fe
, (C) ^

(D) %‘5>RR3 C<t>S

(A) ^

(B)

(C) ^

A (D) 0$Rfi> TO
• *
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21. ‘You are 
stolen’ —

not punished for stealing sheep, but in order that sheep may not be 
which theory of punishment express such view ?

(A) Preventive theory

(B) Reformative theory

(C) Retributive theory

(D) All the above >

C^Q^n ^RJ ‘c^5t jfa Rf —

(A) 'Spo^rPr

(B) ^\£*n*Hf3N> 'sr^jpf

(C) 2ffe*n*n^

P)

22. ‘Politicians are notorious for not looking beyond the next election’— Who says 
this?

19. Reflex actions are-------------

(A) Moral action

(B) Non-moral action

(C) Neither (A) nor (B)

(D) Both (A) and (B)

i R)<q^ fen —

(A) fcfe fen
(B) fen
(C) (A) 'G (B) ^ ^

(D) (A) « (B) ^

>

ahimsa necessarily includes truth and fearlessness.20.

(A) Active

(B) Passive

(C) Moderate

(D) None of these

(A) Peter Singer

(B) Kant

(C) Mill

(D) None of the above

I <n^flfefe<n fet
•i

(A) Rfcfa

(B) ^

(C) fe 

P)

*o |

(A) ^fel 

p) Rf^<i 

(C) 'm*® 

p) ^^13
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25. The word 'Hedonism’ comes from__

(A) Hedone

23. Real meaning of freedom of will is__

(A) Self control

(B) Self satisfaction

(C) Self determinism

(D) None of the above

. (B) Hedoen

(C) Hedoin

(D) Hedoni

I >5[$f

(A)

(B) ypgfe

(C)

(D) (7FF#

Which among the following is the subject of moral judgement ?

(A) Motive

(B) Intention

(C) (A) and (B) both

(D) None of the above

*81 ^

(A) 1£fr*pfJJ

(B)

(C) 'G *t .

(D) ^ '

I ‘Hedonism’ — •

(A) Hedone

(B) Hedoen

(C) Hedoin

(D) Hedoni

■ >

)

26. “Punishment is negative reward”— who said this ?

(A) Plato'

(B) Kant

(C) Locke

(D) Aristotle

24.

^ I “xfl1% ^1 W^lbdi' — C<P <twc^i ?
?

(A) C?iC51

(B)

(C) 5PF

(D)

Turn Over
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27. Which of the following statements is correct ?

(A) Ethics is a natural science

(B) Ethics is a normative science

29. Are the actions of an infant objects of moral judgement ?

(A) Yes

(B) No

(C) Doubtful

(D) None of the above

^ i fen ?

(A)

(B) *Tt

(C)

(D) TO

<

, (C) Both (A) and (B) 

(D) Neither (A) nor (B)

(A) ^11 R'SaH

(B) ^IfoR'eeM

(C) (A) « (B) ^

(D) (A) « (B) CTOf^ ^

28. Ethics is the study of—

(A) Social system

(B) Man’s conduct

(C) Man’s rational nature

(D) None of the above

30. ‘We must admit the qualitative distinction between pleasure’ —who says this ?

(A) Bentham

(B) Kant

(C) Mill

(D) None of the above

«° I W wnt ’Jp’R aff TO’—TO —

(A)

(B) ,®TT5<5ct

(C) Rl*j(R<l CRif^R5 a^i%

(D) crofS

(A)

(B) RP5

(C)

(D) CTOf5 RR .

Turn Over
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(d) Distinguish between external and internal sanctions.

(e) Distinguish between motive and intention.

(f) Do you think that we should have reverence for life and plants ? Briefly 
discuss.

(g) What arguments are there is favour of Determinism ?

(h) What are the postulates of morality ?

(i) Is suicide a moral crime ?

(j) What is shallow ecology ?
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PHILOSOPHY (General)
Paper Code : III-B 

(Ethics : Theory and Application) 

[New Syllabus]
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Time : Two Hours Thirty Minutes 

The figures in the margin indicate full marks.

Section - I

Answer any three questions of the fol lowing.

1. Explain the nature of Ethics. Is ethics a practical science ? Discuss.

2. Distinguish between voluntary and non-voluntary Euthanasia. Is Euthanasia 
acceptable ?

3. Briefly discuss the different theories of punishment.

4. Explain Gandhiji’s concept of Satyagraha in Gandhiji’s ethics.

5. Critically explain Kant’s Categorical Imperative.

, 6. What is Hedonism ? What are its different forms ? Distinguish between 
Psychological Hedonism and Ethical Hedonism.

Section - II
• t

7. Answer any five questions of the following :

(a) Explain briefly the utility of environmental ethics.

(b) Explain in brief the different stages of voluntary action.

(c) “Good will is good in itself’—Justify

Full Marks : 70
5

15x3=45
-

‘ (71 (7FR RhIS ^33 Jft'G 1

5+10

12+3. ^£x\S=8 &

15
<mo

vs i R<iii<p i

8 i ttftftssH ^ i ‘

<k I ^INJI ^ I

^ i <pn^s RRjsi ft ft ? ^

15

15

3+4+8

5x5=25

5 \S+8+V

5

5
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<\ | (71 (7FR ^ :

(■^) 9iR^xt‘?R> ^TiRRrR ^jNjt ^ i

(^i) tijR*^ f&m RR^ ^InC^o9! <ut‘3frt i

(^t) ^ ^m<j^ — ^TNJt w i

(^) R^t <n^j Rn®^ ^^Rj (?r^G i

O) Swu ^ *fl«l% R ?

O) ^Ri R ^ (R #Rt ^\ Stos 2rf% ^ <n >i ^R ^t<Pt SR\s? 

^f^K9! ^c<=iM( ^ i 4

(^) RwRft^ ^9CT R ?

(w) chR^r- fRR ^voJ'qR R ?

(^i) R wR^* x®i9RR ?

(^3) ^ ?
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